weekll 3)2Aig

b
obes [ ok a2 hate [n | Fords 44, fedata ] o o
£1811 [in_ [*fads 54, it bty 53 [ fur

J: Fodx BIRLEMLT AT B3|-2 B Le8 A LR L
ﬁa)dx—-— [i"’l r( {@q dx f&;a( f_:{@)"l"’ff{mh + f:';fm,,l, :

—443 6 R LA ALK h %2 0IR"0Y, Bhkear i3 . (e $-H L BifM IS,
2 [Thodselim [ fodugo-f B:18o48 1hO1TE - 12D, 192
o A HEPBAHHL DRIE Tkl [ fordn

. . a S
[«Wl [ xodx = Lm Z(_.} =0 o ‘ S "
Q"“ -0 B 2 a . :

~

bat ot ‘é ¥
— — - \‘ \l

= =1 - N\
2 2 w—):}‘“ b

=(
LU S O A A S SR

NI

1o B & obea | §34RHf 2R, Rides

k2 FoM 10 DRk &, HH) 2L LG 405 L E B

2. AR, % LBRA [ feodnd [ fadelf 450, AMERBRS [ fon dx 3%
A2 La [ dl =f *ferol + fwfmo(x.

. 0
I‘WI I XD{X > l 'm é
0= o0 - Hw

i of f fadx = j j(eoolx*r {mo!x 0% %.

o0

" fadx 1 J feod - J_Jc("”" ’Jﬁ"‘“"‘
= :F dx + Lq {p)p( x +LC lcpt)dx ‘l’/:?l*)d""[:—f(a)dx—ﬂ}?w”b‘

AN N

————

0



* RGBS B FELTeI4G Fgweird B8 RL0E T

b 2. ol o
ilﬁb i‘z l.

Yhz,

beho

Wz Ja ) h——1 J Vl‘l

* 2 B42% A4 ?Q&J&%ﬁ%ﬁi%’ﬁz&hﬁ, 28487 1Rl spE 7L FRAPeLs RsEd.
(fi4\#bgde- T 4330 60 1RbBTR.2 $ErE R r, B RUSBRATRMTRd4E 5 4)

Ruiz:
T1. £¥§ & oot y'c X7 (bx +1)
Tl. Ilnxd)( . Jqudx :x’,nx - j"('%d" = xmx-x+C

i Ifanxobc
& (’JJ ton'xd % ‘[+an’xolz=]’;;$'-,x-p odx= tanx-Xx4 C

T4. ( cosax T o
— Cos2X = (os x-sMx — ! e
Cos X +sinX A cosx-l-s‘mxdx Cos X 45inx dx = | Cosx—sinxdx = Sin# tCosnd C

olslnx

j $€C7‘d7‘ . JSCCde— jcos = cco:f: z;;a‘ds""‘ : _I(I sm X ) (wsinx)

) ! !
) (. ] 1+Sin %
< 2._[ 1sinx ¥ gnx ds'”" = L |l, S}':xl, +(

T4 Ssecx lonx dx = f _sme o [ deosx setx+(C

Cos™% Cos'x

L jsec X Ax Tips (@75, THRR) JSQCN’X f-c—;?x ((os‘x)oex J:°Sx ( |+tan®x) d

1+Sinx

:fsecxdz + J‘secx{:a,a‘;rp{x = 5’_[’)/ ot , + Jfahxolsecx

Sinx ¢l
= z[ | ,"s' o | 1 tanxsecx -fsec;( 5—;{;4,, Ssecwtmx dx =secx+(
= ' simx+! |
= 1]1-= 4 lnl,—r,,'; + 5 tanxsecx




T8

LT AL

n
=J. |sinx - cosx|olx =
o

9
Jsm'x cosxdx
= jsin"x Cos'x dsiy
- J sinx (1-sin* ) d sinx
3 S

Sin X

T Tz

— —

ol x

_dx
J X‘(“ x1)

o~

T12

x‘- dx

1 BIRETE S

_x” —arctunx +(

(L

_dx

a4 X
_a ([ _ox
—at 1+ [K.)I

AA
(+ 1)

|
= 5 arcian(7)(

T L]
S 1' |- sm2X ’J ﬁin'x +costx - 2 Sinxcosx olx
° °

J'“A
(v}

Cosx - Sm xdx + JT

ﬂ/"

.'ﬁ.Ji

t 3 - (or) —(-140)+ (E42

|+7‘+7<

1o
JxCH %)

|
\ ol x

; Jw‘*** 1
l

X‘HX) l

._1
J’f -l' |+X\

= Ln x+ arctamx +(

|

/s
SINX + CoS"l ‘(CGSX + Seh X)

Sevix - cosxd}(

)=243-

J.ﬂ
un+|

LT
J 1t ol

T g'—?(-t arctanx + (

sn X

_— = —— T —
T} ’ SC“’Hb)"D{)‘
AX
Jsin‘x CoS' X s J.(""‘*b) d(“""‘b)
- [ s'X 1cos'x e om=- 4L
‘ J Snxcowx AF | & Lalaxeb]
\ M*’| (ax'l'b)“"l
= j&?x fb{ Q(mt)

\ —tanx - cotx+( (
\ =] N
‘1!4.
W
e
:L%
..I i )
RO RS Wl
\ ;amsm\y’_‘ -5 iy 2,

-\' -v2

2



1 ( T18 ‘119

B dx _dx_
j Ax ' ﬁx ) s[,{f -|
= 3.1 @Zz ja[bm) :J 6; o x
Je old¥ ( e o
= E "1l | d 2= -)_J ole‘
([t [
ey b TR
) zarcsin Xt 4 ( =rancsing’ 4
(
T20

fta.n’x sec x ({X (Tipvﬁljsecx'bﬁnxelx: seext ()

= j secx ban'X d secx
:J secx [ sectx-1) ol secx
= 3

- seehs - geee s

(
4

)
sec’x - Esec’x + (



